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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–IV • EXAMINATION – SUMMER • 2014 

Subject Code: 3340601 Date: 23-05-2014        

Subject Name: Structure Mechanics - II 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a)   Define the following terms 

1) Stiffness factor 

2) Distribution factor 

3) Carry over factor 

4) Concept of imaginary zero span 

5) Indeterminate beam 

6) Relation between Slope and deflection 

7) Slope of beam 

07 

 (b) A fixed beam of 8 m span subjected to a u.d.l. of 3 kN/m over entire span with 

additional point load of 10 kN acting at centre. Calculate net bending moment 

at centre and draw bending moment diagram. 

07 

    
Q.2 (a) A continuous beam ABC is simply supported at A,B and C. AB= 8 m, BC = 

4m. It carries u.d.l. of 10 kN/m over AB and a central point load of 50 kN on 

BC. Using Clapeyron’s theorem, calculate the support  moments and draw 

S.F.D. and B.M.D. 

07 

 (b) A continuous beam ABCD is fixed at A and supported at B,C and D such that  

AB = BC= 4m, CD =3m. The entire beam is loaded with 30 kN/m. Using 

moment distribution method, calculate support moments and draw B.M.D. 

showing important values. 

07 

  OR  

 (b) A continuous beam ABC is fixed at A and simply supported at B and C. AB= 6 

m, BC = 6m. It carries a point load of 48 kN at 3m from A in AB and a u.d.l. of 

10 kN/m over BC. Find support moments and draw B.M.D. Solve by moment 

distribution method. EI is constant. 

07 

    
Q.3 (a) A cantilever beam of 2 m long is carrying a u.d.l. of 16 kN /m over a distance 

of 1.5 m starting from fixed end. In addition, there is a point load of 20 N acting 

at free end. Calculate the displacement at free end in terms of EI. 

07 

 (b) A masonry dam 8m high, 1.5m wide at the top and 3.25m wide at the base has 

its water face vertical and retains water to a depth of 7m. Calculate the 

maximum and minimum stress intensities induced at the base, if the unit weight 

of water is 10 kN/m
3
 and weight of masonry is 22 kN/m

3
. 

07 

  OR  

Q.3 (a) For a simply supported beam of size 120 mm X 200 mm and having span 5 m, 

what point load in kN should be applied at centre to produce a central 

deflection of 8 mm. Take E= 2X 10
5
 N/mm

2
. 

07 

 (b) A retaining wall is 0.5m wide at the top and 3.5m wide at bottom and 6m high. 

It retains earth on one side which is vertical upto the top level. The density of 

retained earth is 18 kN/m
3 

and the angle of repose is 35
0
. If the density of 

masonry of wall is 20 kN/m
3
, Check the safety of retaining wall against sliding,  

07 
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and overturning if coefficient of friction is 0.42. 
    

Q.4 (a) 1) Define core of section and draw core of section for rectangular and circular 

section. 

2) Explain the stability conditions of the dam. 

07 

 (b) A cast iron column having 13 mm diameter carries an eccentric load such that 

the maximum stress is 15 percent greater than the mean stress on the column 

normal to the axis. Determine the eccentricity. 

07 

  OR  

Q. 4 (a) Derive limit of eccentricity for a hollow circular cross section and draw a neat 

sketch of core of section with measurements. 

07 

 (b) A rectangular column of size 400 mm X 600 mm is acted upon by an eccentric 

load of 200 kN at one of its corner, find stresses induced at each corner. 

07 

    
Q.5 (a) In a strained material the resultant intensity of stress across a certain plane is 60 

N/mm
2
 (Tensile) inclined at 30º to its normal is acting. The normal intensity of 

stress on the plane at right angles to the first plane is 30 N/mm
2
 (Tensile). 

Locate principal planes and find principal stresses. 

07 

 (b) In a strained material two direct stresses of 700 N/mm
2
 and 1200  N/mm

2
 both 

tensile are acting on certain point of two mutually perpendicular planes along 

with a shear stress of intensity 300 N/mm
2
. Locate principal planes and find 

principal stresses using Mohr’s circle method. 

07 

  OR  

Q.5 (a) At a point, there are normal stresses 80 N/mm
2
 (tensile) and 40 N/mm

2
 

(compressive) acting on perpendicular planes. Using Mohr’s circle find the 

normal and tangential stresses on a plane making an angle of 40º with the plane 

on which 80 N/mm
2
 stress acts. Find out the plane on which normal stress is 

zero. 

07 

 (b) At a point, there are tensile stresses 80 N/mm
2
 and 40 N/mm

2
 acting on two 

mutually perpendicular planes. Calculate the normal, tangential and resultant 

stresses on a plane making an angle of 30º with the plane on which 80 N/mm
2
 

stress acts using analytical method. Also calculate maximum tangential stress.  

07 

 

************ 
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ગજુરાતી 
પ્રશ્ન. ૧ અ નીચેના ઩દોની વ્માખ્મા આ઩ો. (૧) સ્ટીફ્નેસ પેકટય (૨) ડીસ્રીબ્યળુન પેકટય 

(૩) કેયી ઓલય પેકટય (૪) કાલ્઩ નનક શનૂ્મ ગા઱ોનો કંસેપ્ટ (૫) ઇનડડટનભિનેટ 
ફીભ (૬) ઢા઱ અને નલચરન ભા ંસફંધં (૭) ફીભ નો ઢા઱   

૦૭ 

 બ એક 8 m ગા઱ા લા઱ા આફદ્ધ ઩ાટ઱ા ઉ઩ય 3 kN/m નો સભનલતયીત બાય તેભ 
જ 10 kN નો ભધ્મ બફિંદુ બાય રાગે છે. ઩ાટ઱ા  ના ભધ્મ ભા ંચોખ્ખો નભનધણૂણ 
ળોધો અને નભનધણૂણ  આરેખ દોયો. 

૦૭ 

    
પ્રશ્ન. ૨ અ એક સ઱ંગ ઩ાટ઱ો ABC છે જેભા ંAB= 8 m અને BC = 4m છે. ગા઱ા AB ઉ઩ય 

10 kN/m  નો સભનલતયીત બાય તેભ જ BC ઉ઩ય 50 kN નો ભધ્મ બફિંદુ બાય 
રાગે છે. ક્રે઩ીયોંસ થીમયભ નો ઉ઩મોગ કયીને આ ઩ાટ઱ા ભાટે કતણનફ઱ અને 
નભનધણૂણ આરેખ દોયો. 

૦૭ 

 બ એક સ઱ંગ ઩ાટ઱ો ABCD જે છે A  બફિંદુ આગ઱ આફદ્ધ છે અને બફિંદુ B,C અને  
D આગ઱ સાડદ યીતે ટેકલામેર છે જેભા ંAB = BC= 4m, CD =3m છે. સ઩ંણૂણ 
ફીભ ઩ય 30 kN/m નો સભનલતયીત બાય છે. ભોભેંટ ડીસ્ટ્સ્રબ્યળુન ઩દ્ધનતનો 
ઉ઩મોગ કયી  ટેકા નો ભોભેંટની ગણતયી કયો અને નભનધણૂણ આરેખ દોયો. 

૦૭ 

  અથવા  

 બ એક સ઱ંગ ઩ાટ઱ો ABC જે છે A  બફિંદુ આગ઱ આફદ્ધ છે અને બફિંદુ B અને C 

આગ઱ સાડદ યીતે ટેકલામેર છે જેભા ંAB = BC= 6 m છે. આ ફીભ AB ઉ઩ય A  
બફિંદુથી 3mના અંતયે 48 kNનો બફિંદુબાય રાગે છે અને BC ઉ઩ય10 kN/m નો 
સભનલતયીત બાય રાગે છે. ભોભેંટ ડીસ્ટ્સ્રબળુન ઩દ્ધનતનો ઉ઩મોગ કયી  ટેકા નો 
ભોભેંટની ગણતયી કયો અને નભનધણૂણ આરેખ દોયો. EI અચર યહળેે. 
 

૦૭ 

    
પ્રશ્ન. ૩ અ એક કેંટીબરલય ફીભ ગા઱ો 2 m છે. તેના ઉ઩ય 16 kN /m નો સભનલતયીત બાય 

આફદ્ધ છેડાથી 1.5 m ના અંતયે રાગે છે. લધાયાભા ંમકુ્ત છેડા ઉ઩ય 20 kN  નો 
બફિંદુબાય રાગે છે. EI ના રૂ઩ ભા ંફીભ ભા ંઉદ્ભલતુ ંમકુ્ત છેડા નુ ં નલચરન નુ ં
મલુ્મ ળોધો. 

૦૭ 

 બ એક રે઩ોઝોઇડર ભેળનયી ડેભ ની ઉંચાઇ 8m, ટોચ ની ઩હો઱ાઇ  1.5m અને 
ત઱ીમાની ઩હો઱ાઇ 3.25m છે. તે ઩ોતાની ઊધ્લણ સ઩ાટી તયપ 7m ઉંચાઇ સધુીનુ ં
઩ાણી અનયુબિત કયે છે. તેના ઩ામાભા ં ઉત્઩ન્ન થતા ભહ્તમભ અને ન્યુતંભ 
પ્રનતફ઱ ળોધો. ડેભ ના ભટીયીમર ની ઘનતા 22 kN/m

3  અને ઩ાણીની ઘનતા 
10 kN/m

3
 રો.  

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ સાદી યીતે ટેકલેર ફીભ ની સાઇઝ  120 mm X 200 mm અને ગા઱ો 5 m નો છે. 
ભધ્મભા ં 8 mm ડીફ્રેકળન ઉત્઩ન્ન કયલા ફીભ ની ભધ્મ ભા ં કેટરા kN નો 
બફિંદુબાય રગાડલો ઩ડળે? E= 2X 10

5
 N/mm

2 રો.  

૦૭ 
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 બ એક  રે઩ોઝોઇડર આડછેદ લા઱ી યીટેઇનીંગ લોર  ટોચ ની ઩હો઱ાઇ 0.5m, અને 
ત઱ીમાની ઩હો઱ાઇ 3.5m  અને 6m ઉંચાઇ છે જે ઩યેૂ઩યૂી ઉંચાઇ સધુી સોઇર 
અનયુબિત કયે છે. જો સોઇર ની ઘનતા 18 kN/m

3 અને ડદલાર ના ભટીયીમર 
ની ઘનતા 20 kN/m

3  હોમ , સોઇરનો એંગર ઓપ યી઩ોઝ =35
0
, µ= 0.42 હોમ 

તો લોર ની ઉથરી ઩ડલાની તૈમાયી, સયકલાની તૈમાયી ભાટે સરાભતીની 
ચકાસણી કયો. 

૦૭ 

    
પ્રશ્ન. ૪ અ (૧) કોય ઓપ સેકળનની વ્માખ્મા આ઩ો અને રફંચોયસ અને લત ુણ઱ાકાય 

આડછેદ ભાટે કોય ઓપ સેકળન દોયો.  
(૨) ડેભ ની સ્સ્થય સ્સ્થનત સભજાલો. 

૦૭ 

 બ એક કાસ્ટ આમણન કોરભ જેનો વ્માસ 13 mm છે. કોરભ ઉ઩ય ઉત્કેંડિમ બાય રાગે 
છે જેના રીધે ભહ્તમભ સ્રેસની ડકિંભત સયેયાળ નોભણર સ્રેસ ની ડકિંભત કયતા ૧૫ 
%લધાયે છે.  તો ઉત્કેંડિમતા ળોધો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ ઩ોરા લત ુણ઱ાકાય આડછેદ ભાટે ઉત્કેંડિમતા સીભા તાયલો અને ભા઩ સાથે કોય 
ઓપ સેકળન ભાટે આક્રુનત દોયો. 

૦૭ 

 બ એક 400 mm X 600 mm ભા઩ ના એક કોરભ ઉ઩ય 200 kN નો ઉત્કેંડિમ બાય  
તેના કોઇ ઩ણ ખણૂા ઉ઩ય રાગે છે. દયેક ખણૂા ઉ઩ય થતા પ્રનતફ઱ો ળોધો. 

૦૭ 

    
પ્રશ્ન. ૫ અ

  
એક નલરૂ઩ણ ઩ાભેર ઩દાથણ ભા ં કોઇ એક સભતર ને રફં દીળા સાથે 30º નો 
ખણૂો ફનાલત ુ ં 60 N/mm

2
 નુ ં ટેંસાઇર સ્રેસ રાગે છે. પ્રથભ સભતર ને 

કાટખણૂેઆલેર ફીજા સભતર ઩ય રફં ડદળા ભા ં 30 N/mm
2   ટેંસાઇર સ્રેસ 

રાગે છે. નપ્રિંનસ઩ર પ્રેન ના સ્થાન અને નપ્રિંનસ઩ર સ્રેસ ની ડકિંભત ળોધો. 

૦૭ 

 બ એક નલરૂ઩ણ ઩ાભેર ઩દાથણભા ંફે એક ફીજાને રફં ડદળાભા ંઆલેર પ્રેન ઩ય 
તેભની રફં ડદળાભા ંઅનકુ્રભે 700 N/mm

2
 અને 1200  N/mm

2 તણાલ પ્રનતફ઱ 
રાગે છે. સાથે આ પ્રેન ઩ય 300 N/mm

2   ળીમય સ્રેસ ઩ણ રાગે છે. ઩દાથણ ભા ં
ઉદ્ભલતા નપ્રિંનસ઩ર પ્રેન ના સ્થાન તેભજ તેભની ઩ય રાગતા નપ્રિંનસ઩ર સ્રેસ ની 
ડકિંભત ભોહય સકણર ના ઉ઩મોગ કયીને ળોધો. 

અથવા 

૦૭ 

    

પ્રશ્ન. ૫ અ એક નલરૂ઩ણ ઩ાભેર ઩દાથણભા ંફે એક ફીજાને રફં ડદળાભા ંઆલેર પ્રેન ઩ય 
ના કોઇ બફિંદુઓ ઩ય ફે ડામયેક્ટ સ્રેસીસ 80 N/mm

2
 (ટેંસાઇર)અને  40 N/mm

2
 

(દાફ પ્રનતફ઱) રાગે છે. ભોહય સકણરનો ઉ઩મોગ કયીને 80 N/mm
2
 પ્રેન સાથે 

40º  નો ખણૂો ફનાલતા ત્રાસા પ્રેન ઩ય નોભણર, ટેંજ ેંળીમર અને ઩ડયણાભી સ્રેસ 
ળોધો. તેભજ જે પ્રેન ઩ય નોભણર સ્રેસ શનૂ્મ છે આ પ્રેન ળોધો.  

૦૭ 

 બ એક નલરૂ઩ણ ઩ાભેર ઩દાથણભા ંફે એક ફીજાને રફં ડદળાભા ંઆલેર પ્રેન ઩ય 
તેભની રફં ડદળાભા ં અનકુ્રભે 80 N/mm

2
 (ટેંસાઇર) અને  40 N/mm

2
 (તણાલ 

૦૭ 
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પ્રનતફ઱) રાગે છે. એનાબરડટકર ઩દ્ધનતનો ઉ઩મોગ કયીને 80 N/mm
2
 પ્રેન 

સાથે 30º  નો ખણૂો ફનાલતા ત્રાસા પ્રેન ઩ય નોભણર, ટેંજ ેંળીમર અને ઩ડયણાભી 
સ્રેસ ળોધો.  

 

************ 


